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QUESTION NO: 1

You use native SQL to access the SAP HANA database. What should you do to retrieve the correct data?
There are 3 correct answers to this question.

A. Use the UP TO n ROWS addition

B. Use the tilde symbol (-) to separate qualifier from column name

C. Use a Comma-separated column list

D. Specify the database schema if it is not the user's default schema

E. Explicitly handle the client field

ANSWER: CDE

QUESTION NO: 2

You want to implement business logic on the database layer.

Which approach do you follow when implementing an ABAP Managed Database Procedure?
A. The Left-Right approach

B. The Near-Far approach

C. The Top-Down approach

D. The Inside-Out approach

ANSWER: C

QUESTION NO: 3
You create a check variant in the Code Inspector which includes the check 'Search problematic Select * statements'. SAP
HANA is used as the db

In the check parameters, which value would you use for the percentage of fields that are effectively used? Please choose the
correct answer.

A. A value that you calculate based on the number of tables
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B. A higher value than on a traditional, row-store only based database
C. A lower value than on a traditional, row-store only based database

D. The same value as on a traditional, row-store only based database

ANSWER: C

QUESTION NO: 4

What are the benefits associated with The SAP HANA real-time Operational analytics? There are 2 correct answers to this
question

A. Simplification of massive data
B. Fast insights into business activity
C. Query Speed support

D. High modeling flexibility

ANSWER: B D

QUESTION NO: 5

Which of the following is not an element of Analytical view? Please choose the correct answer.
A. Currency conversion is not applicable

B. Join fact tables

C. Read Data from the joined database tables

D. Used to Joined table

ANSWER: A

QUESTION NO: 6

What are the two Profitability Analysis available with CO-PA Scenario in SAP HANA Modeling? There are 2 correct answers
to this question

A. Account-based Profitability
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B. Costing-based Profitability
C. Product-based Profitability

D. Service-based profitability

ANSWER: AB

QUESTION NO: 7

What is the main function of Static Code Analysis? Please choose the correct answer.

A. To detect code that would lead to functional or performance issues When migrating to SAP HANA
B. Integrates with SAP Solution Manager

C. Integrated into ABAP Development Tools and ABAP Workbench

D. ABAP source code with performance optimization potential

ANSWER: A

QUESTION NO: 8

In an ABAP Core Data services (CDS) view, what must you do expose an association for use in another CDS view? Please
choose the correct answer.

A. Include all fields used in the ON condition in projection list
B. Specify an alias for the target entity
C. Define the cardinality for the target entity

D. Specify the other views in which the association can be used

ANSWER: A

QUESTION NO: 9

Which of the statement is true for SAP HANA?

A. SAP HANA also uses disc memory to keep backup. In case of power failure the database can be
re-stored to the last consistent state.
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B. In SAP HANA all the data resides in RAM. Hence in case of power failure all the data will be lost.

ANSWER: A

QUESTION NO: 10

Explain the Authorization Concept and the types of privileges associated with it? There are 3 correct answers to this question
A. Analytic privileges

B. Package privileges

C. Application privileges

D. Object privileges

E. System privileges

ANSWER: ADE

QUESTION NO: 11

Which of the following are performance recommendations when using SAP HANA? There are 2 correct answers to this
question.

A. Define indexes on the columns that are used in calculations.
B. Move data-intensive calculations from the database to an application server.
C. Filter data in lower layers.

D. Avoid transferring large result sets between database and client applications.

ANSWER: C D

QUESTION NO: 12

What are the advantages of column based tables? (3 correct answers)
A. Bigger Data Set

B. Better Compression

C. Better parallel Processing
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D. Faster Data Access

ANSWER:BCD

QUESTION NO: 13

You use ABAP database connectivity (ADBC) to issue native SQL calls to the database, the native SQL call? Which of the
following methods of class CL_SQL_RESULT_SET retrieves the tabular result of the native SQL call? Please choose the
correct answer.

A. SET_PARAM_TABLE

B. SET_PARAM

C. EXECUTE_QUERY

D. NEXT_PACKAGE

ANSWER: D

QUESTION NO: 14

What are the three best approach for Transitioning and optimizing ABAP applications to SAP HANA? There are 3 correct
answers to this question.

A. Scaling
B. Optimize
C. Detect
D. Innovate

E. Tuning

ANSWER: BCD

QUESTION NO: 15

You follow the Code-to-Data paradigm in your ABAP coding.
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Which of the following scenarios conflicts with the SQL performance guideline "Keep unnecessary load away from the
database"?

A. Perform business logic and aggregations on database table content, then transfer the results to the application layer.
B. Perform join operations on database tables, then transfer the results to the application layer.
C. Perform calculations on data transferred to the database layer, then transfer the results back to the application layer.

D. Perform text search operations on database table content, then transfer the results to the application layer.

ANSWER: C
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